Jatym: 28.04.2015.roaunHe
TT/CM

NPEAMET: QenoBu moropa CUMMINS - LHI - no naptujaMa (Hasus 1 O3HaKa 13 onwrer
peyHuKka Habaeke: MoTopw 1 Aenosu MoTopa - 34310000 ) - BHA-31/15

PA3JALLUHEHE KOHKYPCHE AOKYMEHTALMIE 1

MNotuToBaHK,
Y npuniory aonuca, AOCTaB/bamMo Bam pasjaiurberbe 1 KOHKYPCHE [IoKyMeHTauuje,

OBo pa3jawmerwe 1 nocraje cacraBHM Ae0 KOHKypCHe foKyMeHTauuje BHA-
31/15.

C nowToBameM,

. o

Mpwnor : pasjawrberbe 1 KOHKYpPCHE D,OKYMGE;%&?

JAEBHO KOMYHANHO NPEAYIETRE MPALCKD CAOBPATAJIHO NPEQYIERE BECOIPAL
11000 Beorpag, Kherabe IbyGuue 29, nowradcku hax 60; renadion; 011/ 366 4000
varedumus: 011 2631 760, reryhu pavysl; 290-11568-68; e-mail: officedgspbeograd.com




NPEAMET: [lobpa: Henosw movopa CUMMINS - LIHI - no naptujamMa (Hasus 1 03Haka U3
OnwTer peuHnka Habaske: MOTOpW W aenoBu MOTopa - 34310000 )

PAZJALUMELE 1
Cxoaro 3axTeBy jefHor o4 noteHupjantux nonyhada pocrasmamo Bam creaehe pasjalirberse:

Nuraie 1

Mapruja 20 ce ucnopydyje camo Kao ceT, koju caapkm naptujy 27. Kako je moryhe Hanpasuty
noHyay Aa éype ucnpasHa’?

Oprosop 1.

136op aenosa/naptiia 3a jasHy HabaBKy ycarniawer je ca pacronokusoM Tex.
AOKyMeHTauujom nponssohava motopa Cummins (QuickServe) . M3 npuaokeHor usoga 13
Karanora (73298664) He moske ce 3akrbyuuTi a raptvia 20 uuHu ceT ca naptujom 27

flutawe 2:

Ha nw je moryhe nposeputy katanowku 6poj 3a napTuly 29, HaseaeHn Katanowky 6poj He
nocToju y CUmmins-0BoM Katanory?

Oprosop 2:
VI3 npunoxeror v3soga 1z katanora (73298664) suam ce ga kat. 6p. (4990739) 3a naptujy
29 nocroju.

Apunor: kao y rexcry

OBo pasjauirberse 1 nocraje cacTaBHm 80 KOHKYPCHE AOKyMEHTauuje.

3a Komucujy 3a japny Habasky

Hparocnas Hewosanosuh, AU, MatL UM,




28.4.2015. 73298664 - Engine Oil Cooler

[ UeASEIYE

nline

Parts Catalog - Option Detail

{=h PRINT OPTION DETAIL

I Option} Group H Graphic ” Film Card H Date
LC%%QO" 07.05 1c953gk z 24-AUG-09

Engines

CM850

ISC CM2150, C GAS PLUS CM556, ISL8.9 CM2150 L110, ISL G CM2180, ISC8.3 CM2250, QSL9
CM2250, QSC8.3 CM554, ISLY CM2250, QSLY M CM2250 1106, ISL9 CM2350 L111, QSLY CM554, G8.3
CMb558, L9.3 L105, QSLY CM850, G8.3, ISL9 CM2350 L101, QSL9 G CM558, ISC CM554, QSC8.3
CM2250, 1.8.9, QSLY CM2350 L1107, ISC CM850, ISL CM554, QSL9 CM2350 L102, ISL8.9 CM2880
L112, GTA8.3 CM558,6C8.3, L. GAS PLUS CM556, QSC8.3 CM850, ISL CM2150, ISL9 CM2150 SN, ISL

SMALL | MEDIUM | LARGE

https:/iquickserve.cummins.com/gs 3/portal/parts/option_detail.htm|?path=87/2/07.05/c9290-03

12



28.4.2015.

73298664 - Engine Oil Cooler

LC9290-03 | Engine Qil Cooler MR - COOLER, ENGINE OIL...(More)

0 1 3906619 Plug, Pipe 1/8 NPT
£J 2 3918174 Gasket, Qil Cooler Core
b 3 3929011 Gasket, Lub Oil CIr Cover
£J 3931084 Plug, Threaded
L 4 3930910 | Plug, Threaded
g 5 3930911 | Seal, ORing
i 6 3944874 Screw, Studded Flange Cap
b 7 3945967 Plunger, Prs Regulator Use W/Dump to Sump ISL Block.
Gl 8 3966365 Core, Cooler
£l 9 3966976 Screw, Hex Flange Head Cap M8 X 1.25 X 65.
& 10 3970655 Spring, Compression
= 3974326 Head, Lub Oil Filter
L 11 118227 || Dowel, Ring
(il 12 3907860 | Screw, Hex Flange Head Cap M8 x 1.25 x 25
L 13 3936365 | Valve, Pressure Relief

14 3966885 | Head, Lub Oil Filter

15 3974324 | Cover, Lub Oil Cooler
b 16 3992092 | Gasket, Connection
= 17 4931643 Plug, Pipe 1/2 NPT.
L 18 4933532 Plug, Pipe 3/4 NPT
£ 19 5262433 Thermostat

hitps:/lquickserve.cummins.com/gs 3/portal/parts/option_detail.html ?path=87/z/07.05/1c9290-03

202



4/27/2015

P
ﬁ

Parts Catalog - Option Detail

) ,&g

73298664 - Exhaust Recirculation

I Option “ Group “ Graphic ” Film Card H Date
ERgee- 11.01.1 er907gw z 21-FEB-11

Engines

CM850

C GAS PLUS CM556, ISC CM2150, 1SL8.9 CM2150 L110, ISC8.3 CM2250, ISL G CM2180, QSLS
CM2250, ISL9 CM2250, QSL9 M CM2250 L106, ISL9 CM2350 L111, QSC8.3 CM554, QSL9 CM554, G8.3
CM558, QSL9 CM850, 8.3, ISL9 CM2350 L101, L9.3 L105, L8.9, QSL9 G CM558, ISC CM554, QSC8.3

CM2250, QSL9 CM2350 L107, ISC CM850, ISL CM554, QSLY CM2350 L102, 1ISL8.9 CM2880
L112, 6C8.3, GTAB.3 CMB58, L GAS PLUS CM556, QSC8.3 CMB50, ISL CM2150, 1ISL9 CM2150 SN, ISL

SMALL | MEDIUM | LARGE

1 ef?&? E}:[

https://quickserve,cummins.com/gs3/portal/parts/option_detail.html?path=/qs3/parts/87/z/11.01.1/er9066-10&header=false&pr...

|

|

|

173



4/27/2015

73298664 - Exhaust Recirculation

| View My Cart |
ER9066-10 | Exhaust Recirculation xﬂi;e?EC'RCULAT[ON’ EXHAUST...

Place Holder Option
Note to be Determined as
Design Finalizes
Engine Family: L Series

0 1 | 3080016 ggg""' Hex Flange Head M10 X 1.50 X 35.

2 | 3093806 g‘;fw' Hex Flange Head M10 x 1.50 x 110

@ 3 | 3104230 | Saskel Bxh Gas Ren

& 4 | 3900630 gggw’ Hex Flange Head M8 X 1.25 X 20.

& 5 | 3900631 g;?w' Hex Flange Head M8 X 1.25 X 25.

¢ 6 | 3900634 ggfw' Hex Flange Head M10 X 1.50 X 50.

= 7 3906216 Nut, Hexagon Flange M6 x 1.00

{1 8 | 3925883 gg’:""' Hex Flange Head M8 X 1.25 X 16.

€ 9 4938761 Gasket, Exh Gas Rcn

Valve

£ 10 | 4940674 fﬂtgfpo“' Exh Gas Ren

L 11 4943908 Nut, Lock

Ll 12 4945365 Bracket, Exh Ren Cooler

td 13 4946823 Clamp, V Band

L 14 4990739 Cooler, Exh Gas Ren Reference TSB 140008

Ll 15 5258066 Valve, Exh Gas Rcn

£ 16 5262738 Spacer, Mounting

£l 17 5267483 Shield, Heat

& 18 5284000 Plug, Threaded

https://quickserve.cummins.com/gs3/portal/parts/option_detail.htmi?path=/qs3/parts/87/2/11.01,1/er9066-10&header=false&pr...

2/3



4/27/2015

73298664 - Exhaust Recirculation

$SERVICE KIT

£l 4955485 Kit, Egr Cooler AR Reference TSB140008
UJ 3049221 || Seal, O Ring 2

& 3104230 \?g‘[f/‘ft Exh Gas Ren 1

£ 4932615 | Gasket, Connection 2

e 4990739 | Cooler, Exh Gas Ren 1 Reference TSB 140008
L) 4352347 Kit, Egr Installation AR HRMO Turbo

£ 5284000 | Plug, Threaded 1

&l 5317706 || Tube, Air Fuel Control 1

= 5331823 || Tube, Water Inlet 1

Ll 4352348 Kit, Egr Installation AR LMRO Turbo

£l 3600861 || Clip 1

£l 3966410 || Washer, Plain 2

= 5284000 | Plug, Threaded 1

Ll 5317707 || Tube, Vent 1

L 5317710 || Tube, Air Transfer 1

£l 5331823 || Tube, Water Inlet 1

el 5332577 || Tube, Air Fuel Control 1

el 5332578 | Clip 1

https://quickserve.cummins.com/gs3/portal/parts/option_detail.html?path=/qs3/parts/87/z/11.01.1/er3066-10&header=false&pr...

3/3



